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Chapter 6 Practlce Test
Linear Functions
Name: Date:
1. Determine the slope of each line. (2 marks each)
a) cl 1Y 7 b) Line AB which passes through points
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2. Arethelinesin question 1 parallelé perpendlcular,,or neither? Justify your answer.
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3. For-each line segment, is its slope positive, negative, zero, or undefined? (2 marks)
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4. Aline passes through (-1, 4) and has a slope of ——.
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a) Sketch the line. (2 marks)
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b)  Write the coordinates of another point on this same line. (1 mark)

\
(145 26 [ 5 A

p ) j S * ]
S = /

5
5. Two lines have slopes of g and Z Are they parallel, perpendicular, or neither?
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6. Graphtheline y= Ex—?a. (2 marks)
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7. Name the form of the equations below. (1 mark)
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8. Write the equation of the line below in Slope-Intercept form. (3 marks)
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9.  Write an equation for the line below in Slope-Point form. (4 marks)
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(b) Aline that passes through Q( 4,7) and R(5, —2)
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10. Write the equation of the line below in Slope-Point form (4 marks)
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(c) The line that passes through (1, —1) and is perpendicular to the line y= Ex -5,
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11. Match the equations to the gra{phs below, by writing the letter on the line. (4 marks)
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12. Stephen has designed a new app that will calculate any math question on the face of the
planet. He spends $800 of his own money designing the app, but he knows it will be
worth it in the end. He puts it on the app store for $6.

a) Write out the equation in Slope-Intercept form that represents Stephen’s financial
situation ( how to calculate his profit) when he goes to sell the app. (2 marks)

b) How much money would Stephen make if he sold an app to each of the 530 students at
Sheldon-Williams. (2 marks)
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¢) How many apps would Stephen have to sell to break even (0 profit) on his original
investment? (2 marks)
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e) Graph the line that represents Stephen’s sales. (4 marks)
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